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Import numpy as np

from sklearn import model_selection

x = np.array(df_all.drop(‘'winner', axis=1))

y = np.array(df_all['winner'])

test size = 0.9

data train, data test, label train, label test ¥

= model_selection.train_test_split(x, y, test_size=test_size)
from sklearn import svm

clf = svm.SVC()

clf.fit(data_train, label train)
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df test = make table reversi(10)
orint(clf.predict(df test))
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iImport numpy as np

from sklearn import model_selection

x = np.array(df_all.drop('winner', axis=1))

y = np.array(df_all['winner'])
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test_size = 0.9 o NDFEZRDIERCICE D T — X 1£60-54=6

data train, data test, label train, label test ¥

= model_selection.train_test_split(x, y, test_size=test size)
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from sklearn import svm

clf = svym.SVC()
clf.fit(data train, label train)
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df test = make table reversi(10) —
print(clf.predict(df_test)) 1 HDEH
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True Positive (TP) False Positive (FP)
False Negative (FN)  True Negative (TN)
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TP+ FP+TN+ FN
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HD&I|F  False Negative (FN)  True Negative (TN)
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FTE : F-measure
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Fmeasure =

2 * Recall * Precision

Recall + Precision
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HOBsH  True Positive (TP) False Positive (FP)
Ha&lF  False Negative (FN)  True Negative (TN)
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label_pre = clf.predict(data_test)
from sklearn.metrics import confusion_matrix
tn, fp, fn, tp= confusion_matrix(label test, label pre).flatten()

print(tp)
print(fp)
print(fn)
print(tn)
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